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app clk > 0
[modeO Trueﬁ app Evt

4 clocks

switch switch 1 sensor clk
timer switch switch 1
clock GarageDoorOpener 0
app clk

0 parameter

5 discrete

app
switch switch 1

delta
trigger GarageDoorOpener
delay

Initial

timer switch switch 1 =0
& switch switch 1 sensor clk =0
& clock GarageDoorOpener 0 =0

app := 1; app clk:=0; app:=0; app clk:= 0;

switch switch Dev 1
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app clk > 0
app_Evt (modeO

True

switch switch 1 sensor clk > 0
switch switch Evt 1
switch switch 1 :=97; switch switch 1 sensor clk := 0;

model

True

GarageDoorOpener0
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switch switch 1 sensor clk > 0

switch switch Evt 1 app Evt

switch switch 1 := 96; switch switch 1 sensor clk := 0;
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switch switch 1 GarageDoorOpenerO 0 Jswitch switch Evt 1
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True]

app > 0
switch switch 1 GarageDoorOpener(O 0
switch switch 1 := 97;

app <=0

automata delay 18 2 sync
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(modeO Truew
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clock GarageDoorOpener 0 >= delay
switch switch 1 automata delay 18 2 sync 0
switch switch 1 := 96; trigger GarageDoorOpener := 0O;

delay 18 2 sync
clock GarageDoorOpener O := 0;
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delay >= clock_GarageDoorOpener_O)

GarageDoorOpenerl
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_f{modeo TrueL__

switch switch Evt 1 ;' switch switch 1 <97 switch switch 1 > 97
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switch switch 1 = 97

trigger GarageDoorOpener = 0

delay 18 2 sync

trigger GarageDoorOpener := 1;
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timer switch switch 1 >= delta
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switch switch 1 automata delay 18 2 sync 0O

}trigger_GarageDoorOpener =1

badstate

switch switch 1 GarageDoorOpenerQO 0
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switch switch 1 = 97
timer switch switch 1 := 0;
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ode?2 True}; -------------------------

delta > timer switch switch 1
switch switch 1 automata delay 18 2 sync 0O

delta > timer switch switch 1
switch switch 1 GarageDoorOpener0O 0

delta > timer switch switch 1°

switch switch Evt 1
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